Given the following
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numbers:
V5 /100 V100 V=100 2.71828 0

List the real numbers? -75.'--) 0.1% : (5'-, <100, ﬁb—ﬁ-?} o 137‘2433 0

List the irrational nu

mbers? (5

List the rational numbers? 'Ts:'-J 0.[5” J100, JIDDJ 2.71828,©

List the integers? = (0o, J{DOJ O

List the whole numbers? m O

List the natural numbers? vypo

Fill in the blanks with the following words:
Addlition Subtraction Multiplication Division

additqion

and ¢ M/Lh'P L(Ca_JhOI’\/ are associative and

commutative.

Then provide examples in the fo\lowing table.

Operation Associative Property (holds) Commutative Property (holds)
addinon (1+2)43 = 1+2+3) 14243 = 3t+2+ 1/
multiplicatn MM (-2)3)= 1(23) 23=32

S Wé’Wﬂ‘Gh oh and 0{‘:[/(/.5 60/1, are NOT

associative and commutative.

Then provide examples in the following table.

Operation Associative Property DOESN'T Commutative Property DOESN'T
HOLD HOLD
sub.  (3-2)-1# 3-6-1)| Y-2 22—y

%

B=2)-y 2 8= (2=

) Y2 #£2-+Y




Write the property that justifies each step in the algebraic proof.
9 (x +§) + (—x)] Given

oot (D) commutanve

9 r(—x +x) + %] OLSSOC,L-GL'h.Vﬂ
00+ addlihve i(nverse

9 % mouc'f? ve wfcn'/'/';‘-g/

Write an example to help you remember each of the following properties:

Symmetric A a=b tThen b=a_

ransiive [ a=b and b=c ten a=C

WM( { Commuistive s witch ordes 0 num besS)/erins
v ILAssociative chnbhx/x,s

Distributive albfc)=abtac

Additivedentity | 4/}%/]?’ to a Iumikies-

Muhiplicative‘ldentity! anﬁ]o/?jng, a nurmbey b?, /
Additive Inverse (opposites)  —dl -f-a_f’o Mgh}, 79/ a;(f—cj

Multiplicative Inverse (reciprocals) s J . / ) /':((;' 7] (r
Atz mw/v’v/o;/ 9 yervcal,




